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[Question ID = 1019][Question Description = 173_20_HIN_SEP22_S4_Q73]
1. 1 [Option ID = 4073]
2. 2 [Option ID = 4074]
3. 3 [Option ID = 4075]
4. 4 [Option ID = 4076]



74) Tl - @l g -1 | gEfd Sife -

EE =

A, HRog B4S I BAHE g3 1 e
B. FIEMER UG fedal I T S

C. SINITTG fgdal 11, BT 3R BEar
D. faeri-ara A V. SITdig Efie
Fra Ru e fAewt § g9 Iw g

TA-I,B-I,E-ll, D-IV
ZA-IVB-ILC-1IL B~
LA-IVB-UL,C-1l, D-1
4A-ILE-NL,C-I, D-1

[Question ID = 1020][Question Description = 174_20_HIN_SEP22_S4_Q74]
1. 1 [Option ID = 4077]
2. 2 [Option ID = 4078]
3. 3 [Option ID = 4079]
4. 4 [Option ID = 4080]
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[Question ID = 1026][Question Description = 180_20_HIN_SEP22_S4_Q80]
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2. 2 [Option ID = 4138]
3. 3 [Option ID = 4139]
4. 4 [Option ID = 4140]
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Topic:- 13_GP_30SEPT22_SH1_S2_A

1) The following table presents data about the number of men, women and children and percentage (%)
of overweight men, overweight women and overweight children in a city during the last six years from
2016 to 2021.

Year-wise Distribution of Population in a city

i"fear Number of Percentage (%) of Overweight |
| Men Women!Childrenl Men Women ;_Chlldren _
2016]27000| 19000 | 7500 | 15% | 3% | 30%
12017|37500| 32000 | 10500 | 7% 35% | 28%
iEO?S- 31500| 30000 6000 30% 25% | 35%
|2079|33000| 27000 | 8000 | 16% 30% | 30%
|2020|35000| 34000 | 10000 12% 27% | 32%
2021|39000| 37500 | 22500 | 37.50% 22% 36%

What was the average of the number of men, women and chlidren who were averweight in the year
20197

1.4812
2.5016
3.5395
4.5260



Frafifes Tl # Bee 2016 € 2021 7% & O 1 & aRA U Ye? 3 qout, At ud ==t &
T R e Tut uenl, e au-T aast ud e au-l 9= & AR # ST (&) Uid e T
gl

0% T # S el d1aN-ar f[awm
Eereas U T BT U= (%)

- Y Ae@Es W \ewy g
201612700019000 7500 (15% 36% 30%
201713750032000 [10500(7% 35% 28%
201831500[30000 000 |30% 25% 35%
201933000 27000 8000 [16% 30% 30%

2020135000.34000 [10000{12% 27% 32%
202113900037500 (2250037.50% 22% 36%

a¥ 2019 & F g, Alcmel ok gl &1 wen el 6, 9 sifle aw 42

1.4812
2.5016
3.5395
4. 5260
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2) The following table presents data about the number of men, women and children and percentage (%)
of overweight men, overweight women and overweight children in a city during the last six years from
2016 to 2021.

Year-wise Distribution of Population in a ¢i

o Number of Percentage (%) of Overweight
Men Women | Children Men Women | Children
2016|27000| 19000 | 7500 15% 36% 30%
2017|37500| 32000 | 10500 7% 35% 28%
2071831500 30000 6000 30% 25% 35%
2019|33000, 27000 | 8000 16% 30% 30%
2020(35000| 34000 | 10000 12% 27% 32%
2021(39000, 37500 | 22500 | 37.50% 22% 36%

The number of overweight men in the year 2021 was what percent of the number of men who were
not overweight in the same year?

1,55%
2.60%
3.505%
4.655%

Frafif@s Tt § Bee 2016 ¥ 2021 7@ & O O & 4RA UH Ye7 # qout At ud o= @
Hean AR sifire ot uet, fie awt afiret g afile oot o=t & R 7 Se (e W
gl

U WEI # IS HTaN-aR Favo

i = ST T T U2 (%)
[ HEOwEs ey = Wewnw a9

Z071612700019000 {7500 15% 36% 30%

20173750032000 [10500{7% 35% 28%
2018/31500[30000 |6000 [30% 25% 35%
2019/3300027000 8000 [16% 30% 30%
2020/35000,34000 [10000(12% 27% 32%

202113300037500 [22500(37.50% [22% 36%

af 2021 # i Tol GOt @ Y 39 RN @1 den &t gonn A e uftea 6 5t ot @
i auH B TR E Uigd el 4 2

1.55%
2.60%
3.505%
4.65.5%
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HwnN =

3) The following table presents data about the number of men, women and children and percentage (%)
of overweight men, overweight women and overweight children in a city during the last six years from
2016 to 2021.

Year-wise Distribution of Population in a city

i Number of Percentage (%) of Overweight
Men Women Children Men Women | Children
2016|27000| 19000 7500 15% 36% 30%
201737500 32000 | 10500 7% 35% 28%
2018 31500| 30000 6000 30% 25% 35%
2019(33000| 27000 8000 16% 30% 30%
2020|35000| 34000 10000 12% 27% 32%
2021(39000| 37500 | 22500 | 37.50% 22% 36%

What was the ratio of the number of overweight women in the year 2018 to the number of
overweight men in the year 20207

1.6:7

2.21:65
3:15:73
4.25:14
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gl
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Y ARegEs grw mRey o e
2016/27000/19000 {7500 (15% 36% 30%
2017(37500/32000 [10500(7% 35% 28%
2018/31500/30000 [6000 30% 25% 35%
2019/3300027000 (8000 (16% 30% 30%
2020/35000/34000 [1000012% 27% 32%
2021/39000/37500 [22500(37.50%  (22% 36%
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1.8:7

2. 21:65
3.15:73
4,254
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4) The following table presents data about the number of men, women and children and percentage (%)
of overweight men, overweight women and overweight children in a city during the last six years from
2016 to 2021.

Year-wise Distribution of Population in a ¢i

o Number of Percentage (%) of Overweight
Men Women | Children Men Women | Children
2016|27000| 19000 | 7500 15% 36% 30%
2017|37500| 32000 | 10500 7% 35% 28%
2071831500 30000 6000 30% 25% 35%
2019|33000, 27000 | 8000 16% 30% 30%
2020(35000| 34000 | 10000 12% 27% 32%
2021(39000, 37500 | 22500 | 37.50% 22% 36%

What was the difference between the number of overweight women and overweight children
together in the year 2018 and the number of overweight men in the same year?

1,150
2.450
3.345
4,865
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Z071612700019000 {7500 15% 36% 30%

20173750032000 [10500{7% 35% 28%
2018/31500[30000 |6000 [30% 25% 35%
2019/3300027000 8000 [16% 30% 30%
2020/35000,34000 [10000(12% 27% 32%

202113300037500 [22500(37.50% [22% 36%

asf 2018 7 sifiw awt ARl ud sft® vt o=t &1 oo g o Gt A 7 wfie aeET gew!
@1 & S T HAR Y12

1.150
2.450
3. 345
4, 865



[Question ID = 544][Question Description = 104_0_GP16_SEP22_S2_Q04]
1 [Option ID = 2173]
2 [Option ID = 2174]
3 [Option ID = 2175]
4 [Option ID = 2176]

HwnN =

5) The following table presents data about the number of men, women and children and percentage (%)
of overweight men, overweight women and overweight children in a city during the last six years from
2016 to 2021.

Year-wi istribution of Population in a city

o Number of Percentage (%) of Overweight
Men Women Children Men Women | Children
20716(27000| 19000 7500 15% 36% 30%
2017|37500| 32000 10500 7% 35% 28%
2018(31500| 30000 6000 30% 25% 35%
2019/33000| 27000 8000 16% 30% 30%
2020|35000| 34000 | 10000 12% 27% 32%
2021|39000| 37500 | 22500 | 327.50% 22% 36%

What was the total number of children who were not overweight in the year 2016 and 2017
together?

1.4530
2.4350
3.12810
4, 14820



Frafifes Tl # Bae 2016 ¥ 2021 7% & O I & 4RA U Ye7 & qout, A ud 7= &
e AR il awt uewl, sfie au-t aiRerelud fle oot o=t & aR 7 8o (&) W B
gl

U WeR H I H1a8-aR Fawo

| it e TR oIt T UTTR (%)
Y HRe s g AR qw

201627000/19000 [7500 [15%  [36%  [30%

201737500{32000 [10500/7% 35%  [28%

20183150030000 |6000 [30%  [25%  [35%

2079330002700 (8000 [16%  |30%  [30%

20203500034000 [10000/12%  [27%  [32%

2021[39000137500 [22500[37.50% [22%  [36%

aN 2016 R 2017 A I T &1 Go Ger 71 4, 9 s TuF B g g gifgd Agf 42

1.4530
2.4,350
3.12,810
4, 14,820

[Question ID = 545][Question Description = 105_0_GP16_SEP22_S2_Q05]
1 [Option ID = 2177]
2 [Option ID = 2178]
3 [Option ID = 2179]
4 [Option ID = 2180]

A wnN =

Topic:- 13_GP_30SEPT22_SH1_S2_B

1)
According to the revised Bloom's taxohomy, which of the following categories is considered to be

highest for the learniar?

1. Uniderstand
2, Apply

3, Analyse

4, Create

Y S @1 i | o STER Ry o 3 Y sl & R ates ART s e 2

1, HHFAT

2, ST AT
3, fqEemm @AT
4, TFT T

[Question ID = 546][Question Description = 106_0_GP16_SEP22_S2_Q06]
1 [Option ID = 2181]
2 [Option ID = 2182]
3 [Option ID = 2183]
4 [Option ID = 2184]

AN wN -



2)
Which of thie followirig is NOT characteristic of a good question paper?

1, Objectivity
2, Subjectivity
3. Reliability
4 Validation

foifEa A e e O te ST9 Uy Uz &1 BN Te 67

1, T AT

2, feT AT
3, [T
4 fafET=

[Question ID = 547][Question Description = 107_0_GP16_SEP22_S2_Q07]
1. 1 [Option ID = 2185]
2. 2 [Option ID = 2186]
3. 3 [Option ID = 2187]
4. 4 [Option ID = 2188]

3)
Giver below are bwo statemerits, ore is labelled a5 Assertion A and the otheris|abelled as Reason

R

Assertion A : MOOCs on the SWAYANM portal can be used for earning upte 40% credits per
zemester by students;

Reason R All MOOCs on the SWAYANM portal are credit-based MOOCs,
I light of the above statements, choose thie correet answer from the options given below

1, Both A arid R are true and R s the carrect explanation of A

2, Both A arid R are true but R is'MOT the correct explanation of A
3 Aistrue butRis false

4 Aisfalse but Ris trug

T &I By B TN E ;. Uh SHHYT (Assertion &) & ©U H ARG € 01 G8R1 39%H HRY (Reason R)
%Wfﬂ

@Y A WAH U150 R 509 &1 U9 U® GAwR ¥ Fardal gRT40% $iEe ol o0 &
ERIEIESEIE

TR R IH Uldel O U g drlee smd g & |
3 Y & e § AT Reedt § € e S @ g S

1 AARREFI T E AN R, AT e TS E

2, AdRR GO B, AT R, AT UET TR TR B
3 ATY B, TR ST B

4 AT, AFTR TR

[Question ID = 548][Question Description = 108_0_GP16_SEP22_S2_Q08]
1. 1 [Option ID = 2189]
2. 2 [Option ID = 2190]



3. 3 [Option ID = 2191]
4. 4 [Option ID = 2192]

4)
Dynamic approach to teaching means

1, Teaching shiould be lecture based.

2, Teachersshould be energetic,

3, Teachers should be student friendly.

4, Students should learm through activities,

Rr&m &7 T SUTTE © ST B

1, fRT&MT SRR ATHTRA -7 FTEE |

2, &t @ FeaE g ETEY |

3, et T et o Ty e SR 9 SEe 6 T TR e |
4, et el S Tiea & e 3 g ARy |

[Question ID = 549][Question Description = 109_0_GP16_SEP22_S2_Q09]
1. 1 [Option ID = 2193]
2. 2 [Option ID = 2194]
3. 3 [Option ID = 2195]
4. 4 [Option ID = 2196]

5)
hatch List | with List [1

List | List I

Concepts Main Proponent

& Self-education through development af individuality ||, Sri Aurobindo

B. Integral education Il hdatiatma Gandhi
. Education to transform human mind Il Maria Mantessori
D, Basic education (Wardha Education Systerm) 1%, ), Krishramurti

Choose the correct answer from the options given below:

T AL BN, C- WDl
2 8- B-LC- Il D- W
= o | = S TR Y8 o
4 AL B-I =1, D=1l



e - S - o gAfE B

T -1 (3R T || S UuEE)
o, Bafad TR & [T & HTREH © ST-Rre |1, o 3R

B. Ui (24T I, FETeHT 7T

. AT AGTSH @1 SO N BLAare @& I, FRET He g

D, Hifer Ref (el R woredh I\, TR

e fou T Rereat 9§ wet IR g

TA-LB-ULC-1 B -1l
2A-ILB-LC-Il, -1V
BA-ULB-LC-1v, -1l
A4 A-LB-IVC-Il T-lf

[Question ID = 550][Question Description = 110_0_GP16_SEP22_S2_Q10]
1. 1 [Option ID = 2197]
2. 2 [Option ID = 2198]
3. 3 [Option ID = 2199]
4. 4 [Option ID = 2200]

6)
Historical research has the limitation of

1, Problem identification
2, Analytical symthesig

3, Universal generalization
4, Probable conclusions

URTeTRIE AT w1 T H a7

1, G gedH

>, AN TS e
3, FEUTHEG TEREI0
4, G ey

[Question ID = 551][Question Description = 111_0_GP16_SEP22_S2_Q11]
1. 1 [Option ID = 2201]
2. 2 [Option ID = 2202]
3. 3 [Option ID = 2203]
4. 4 [Option ID = 2204]

7)
The term 'Hermeneutics' is drawn from

1, Sociclogy

2, Theology

3 Anthropology
4, Economics



UG WA T (S S b gee?

1 TR
2, Sy
3, JfE5
4, YR

[Question ID = 552][Question Description = 112_0_GP16_SEP22_S2_Q12]
1. 1 [Option ID = 2205]
2. 2 [Option ID = 2206]
3. 3 [Option ID = 2207]
4. 4 [Option ID = 2208]

8)
Which of the followinig have been considered asthreat to internal walidity in research?

L Rardomisation

B, Gerieralisability

C, Maturation

D, Histary

E. Instrumentation

Choose the correct answer from the opfions given below,

1.4 B and C only
2,B, Cand Donly
3. C DandE onily
4 A B and Eonly

T 0 O Ow ! SOy T SIR® qUT & B G AT 82
A TEfEE

B, HH I H 0T

C. gRoe

D, e

E, AT

e Bu e R O wE S

1 HAAA BIARC
> HAAB, CHRD
3 HAAC D IANE
4, Hqd A B HRE

[Question ID = 553][Question Description = 113_0_GP16_SEP22_S2_Q13]
1. 1 [Option ID = 2209]
2. 2 [Option ID = 2210]
3. 3 [Option ID = 2211]
4. 4 [Option ID = 2212]



9)
Given below are two statermnents

Statement |: The qualitative data are powerful because they are collected from very sensitive social,
historical and temporal context

Statement |I: Context sensitivity cannot be completely removead fram the qualitative data,
Imlight of the abowve staterments, choose the correct answer from the options given below

1, Both Staterment | and Statement!| are trug
2, Both Statement | and Staterment || are falze
3, Staterment | 1z true but Statement || s falze
4 Statement | iz false but Staterment || s rue

TaamyT Ru e,

WY - | IR 2ol (G LR gl & et 3¢ S e gaeadie T, TeTe SR
Fifthe ORUeT ¥ YUEd e =g |

HYT - || ARG 21§ UaY TeaieaT & Ol ave § gemT As o g e |
Il wYA] & Siiis | FE e f[doed] # 9 9e TR g

1,59 MR ET TR

2. Y| AR EH] T & |

2. HYF | I &, A Ty || dEg |
4 Y| HTT B, Wi puT 1 T g |

[Question ID = 554][Question Description = 114_0_GP16_SEP22_S2_Q14]
1. 1 [Option ID = 2213]
2. 2 [Option ID = 2214]
3. 3 [Option ID = 2215]
4. 4 [Option ID = 2216]

10)
Match List | with List 11
List | List Il
Research Perspective Discipline
A, Phenomenology | Anthropology
B. Ethnography Il Socdolagy
. Ethnomethadology III, Social psychalogy
0. Symbolicinteractionism [%, Philosophy

Choose the correct answer from the options given below:

T A=LEB-IL,C-N,D- I
2 A-IB-LE -1, D
= 0 [ = R s O |
4 A= B-LC=I,D=I



e - S - o gAfE B

T - (T TR | ()

A, HE TR |, HIE fa5TT

R EUGELE |, TR

. oI WOt A |, ETTRE AR
D, Ui idT e V. GRRITA

e fou T Rereat 9§ wet IR g

TA-LB-ILC-N, D-1¥
2 A= LB -2 -1V, B
3A-ILB-IC-1L B-1
A A-INB-1LC-I T-lf

[Question ID = 555][Question Description = 115_0_GP16_SEP22_S2_Q15]
1. 1 [Option ID = 2217]
2. 2 [Option ID = 2218]
3. 3 [Option ID = 2219]
4. 4 [Option ID = 2220]

11)
Inface-to-face communication, thie non=verbal cues provided by the recelver, can be congidered as

1, Feedback

2, Decoding

3, Physical noise

4, Symhbolic representaion

T -TT TN § UT0E gRIVEH 6T T oiie® Yl &1 v &0 3 gH1 ST 9Ha et

1, WRgE @wedm)

>, AT

3, Hifde TR

4, v uhffiE

[Question ID = 556][Question Description = 116_0_GP16_SEP22_S2_Q16]
1. 1 [Option ID = 2221]
2. 2 [Option ID = 2222]
3. 3 [Option ID = 2223]
4. 4 [Option ID = 2224]

12)
Cormmunication compatibility between individuals'is rooted in

1, Stewardship

2, Interestin media
3, Empathy

4, External influgnce



T & e TN & T e g B

1, aRETREa
2, WifgaTd wh

3, TadHf
4 TR UHE

[Question ID = 557][Question Description = 117_0_GP16_SEP22_S2_Q17]
1. 1 [Option ID = 2225]
2. 2 [Option ID = 2226]
3. 3 [Option ID = 2227]
4. 4 [Option ID = 2228]

13)
Which of the followinig are the advantages of grapevine communication?

A Emoothy float of adverse comments

B Knowirig the morale in the organisation

C. Spead of propagandist views

D, To know the important issues faced by the emiplayees
E. Aszessment of employee anxities

Choose the corfrect answer from the options given below,

1,4 B and Conly
2, B, Cand Doonly
3. D, Cand E orily
4B DandEonly

S -HETE TN & R # S T e

A, Tferget R ot e g7 weETE

B, TTE # HATE &1 ]

c. SiRvERE Rl &1 e

D, FHTR RO 50 9 916 9e@qy 951 & 9]
£ HHAE &1 el B e

e Bu e R O wE S

1 HAAA BIARC
> HAAB, CHRD
3, HAAD, CANE
4, AT, D ANE

[Question ID = 558][Question Description = 118_0_GP16_SEP22_S2_Q18]
1. 1 [Option ID = 2229]
2. 2 [Option ID = 2230]
3. 3 [Option ID = 2231]
4. 4 [Option ID = 2232]



14)
Suggestions for communication with people from different cultures can be;

A Erphasise your interpratation

B, Forget your own cultural identity

C, Promote an gco-system of mutual respect

D, Kriow the cultural context of other people

E, Alweays state facts

Choose the cofrect answer from the opfions given below!

1.4 Band Conly
2, C, Dand E only
3. B CandEonly
4 A Dand Eonly

P Wep gt & i b Ty RN o o T Bl 9 B
A, IO SRR g9 T

B, 30T %Y T URPI® TedH S Yo

¢, UREIRE THH &1 0@ TR YRS [ U &1 Wi &)
D, = TN & NP am Hay & aHAT

E, Had u gaHT

i B e fwedt # ¥ wE SR A

| HAAA BFRC
2 HAAC, DIANE
3, HAdR, CHRE
4, HIAA D ARE

[Question ID = 559][Question Description = 119_0_GP16_SEP22_S2_Q19]
1. 1 [Option ID = 2233]
2. 2 [Option ID = 2234]
3. 3 [Option ID = 2235]
4. 4 [Option ID = 2236]



15)
Given below are two staterments

Statement I: The new system of communication has facilitated the emergence of an interactive
society,

Statement II: The mew system of communication is digital and has integrated multiple modes of
comimunication through networks.

Irlight of the abowve staternents, choose the correct answer from the options given below

1, Both Staterment | and Statement || are trug
2, Bothy Statement | and Staterment || are false
3, Staternent | iz true but Statement || s falze
4, Staternent | is false but Staternent | iz true

TRaI @y GE g
WU - | TN B A5 WOTEI A U T e TeTds AN o ST &1 9 e T e |

FY - || ; JET BT T3 TOMET [SFed & AR IO Teaed & T T W & 9g-0Y ] @
EEAETACRI

e e s e e B @ we e

1 B AR EAT IR

2 WY AR EH AT

3 T T &, At ®UT 1| T |
4 T FTT B, T ST 1 TH e |

[Question ID = 560][Question Description = 120_0_GP16_SEP22_S2_Q20]
1. 1 [Option ID = 2237]
2. 2 [Option ID = 2238]
3. 3 [Option ID = 2239]
4. 4 [Option ID = 2240]

16)
I a certaincode, 487" means 'leaves are green’, '485" means 'green is good' and '639" means 'they

are playirig', Which digitstands for 'leaves’ in that code?

1.6
2.7
3.4
4,9

s AT e A 467 @1 o URETEN &, 1485 &1 Y BU T 3=31 8" o 639 BT3¢ 4 WeI
gIsuEer g s1am & OTe?

1.6
2.7
3.4
4,9

[Question ID = 561][Question Description = 121_0_GP16_SEP22_S2_Q21]
1. 1 [Option ID = 2241]
2. 2 [Option ID = 2242]



3. 3 [Option ID = 2243]
4. 4 [Option ID = 2244]

17)
Find thie missing number in the series:

2,10, 30, 68, 130, 222, 7

1,350
2,352
3,194
4,104

SR T §11 UG 31 g
2,10,30,68 1230, 222, ?

1,350
2,352
3,194
4,104

[Question ID = 562][Question Description = 122_0_GP16_SEP22_S2_Q22]
1. 1 [Option ID = 2245]
2. 2 [Option ID = 2246]
3. 3 [Option ID = 2247]
4. 4 [Option ID = 2248]

18)
Mumber of bacteria in a coritainer doubles in every one minute, IF the container gets completely

filled with bacteria in 30 minutes, then in bow many minutes 14 t af the container shall be filled
with bacteria?

1,15 minutes
2,16 minutes
2, 28 minutes
4, 25 minutes

Ue U B Siament @@ iR o ven ude U Bhe o 6 Wl 8 | 9 U 20 e & shams
U U e WA, ol [de- FHel 5 U BT 174 HFT S ae| § SR Se

1,15 e
2,16 f{-e
3,28 f{e
4,25 fie

[Question ID = 563][Question Description = 123_0_GP16_SEP22_S2_Q23]
1. 1 [Option ID = 2249]
2. 2 [Option ID = 2250]
3. 3 [Option ID = 2251]
4. 4 [Option ID = 2252]



19)
Certain number of birds are sitting on two trees A and B, Birds sittinig o tree & tall to the hbirds

gitting on tree B, that if 2 birds from tree B shift to the tree A, ther we are egual in number, Howewer,
the birdssittirig on tree B, tell those sitting on &, that if two birds from your side (tree A) shift to our
side (tree B), thien we become double thar yeou (tres A) How many birds are sitting on the two trees
A and B, respectively?

1.8 12
2,10, 14
32,14, 10
4,57

&l g6 A 3T B UR URAT &1 e AT T8 | 940 A U a4 G4l 94 B U 98 ufedl ¥ $ud 8 & afd
&7 T 2 U&7 &7 A TR SYFITRG 61 90 af & 1 OR 38 | U] T 61 = | T 98 B O 48 Ua,
ATT 43 URE @i e & 9 TR TF O (G4 A) &1 96T ORI 99 (G4 B) HWRT 8T A &, o
I T ae A T ST &1 S | G194 A R B U g, By uet e £

1.812
2.0, 74
3,14, 10
457

[Question ID = 564][Question Description = 124_0_GP16_SEP22_S2_Q24]
1. 1 [Option ID = 2253]
2. 2 [Option ID = 2254]
3. 3 [Option ID = 2255]
4. 4 [Option ID = 2256]

20)
The average age of students ina class was 15 years. When 5 new boys whiose average age was 12

years 6 manths were admitted in the class the average age was reduced by 6 months, How mariy
studentswere there in the class ariginally?

1.15
2, 20
318
4.6

U &l 0 S o) ST AL 15 9% 6 | 96 HaT T 5 U o | &1 Usih 0 (GIRe a7 719, M
T 37 12 A% 6 Fe - o, 1 SR ST 6 AR BHH &1 715 | Heid, el H e e

1.15
2, 20
3.8
4.6

[Question ID = 565][Question Description = 125_0_GP16_SEP22_S2_Q25]
1. 1 [Option ID = 2257]
2. 2 [Option ID = 2258]
3. 3 [Option ID = 2259]
4. 4 [Option ID = 2260]



21
) If the statemerit, 'Some plants are not carniveorous' i given as false, then which of the following
could be immediately inferred from it?
A 'Some plantsare carnivoraus' is true
B, 'Some plants are carnivorous' is false
C, 'Mo plarits are carnivorous' iz false
D, Al plants are carnivorous' is true

Chose the correct answer from the options given below,

1. B, Cand Doonly
2, A and Doonly
3 A and Canly
4.A CandDonly

3ifimy s U Iigwel el Bl & o e I T 8, Ut R & Frefafes § © b o
SHT T ST el g 7

A T O AigHET e & TETE

B, 'T® UM HigveT et 8 e 8
C.'®I5 WU HIGHET T5 ElTe o &
D, WO AT Bl &, T8l 6

et fer i el T S

1, HaAB, CHRD
2 HAAAHRD
3 HAAAHRC
4, A A, CHRD

[Question ID = 566][Question Description = 126_0_GP16_SEP22_S2_Q26]
1. 1 [Option ID = 2261]
2. 2 [Option ID = 2262]
3. 3 [Option ID = 2263]
4. 4 [Option ID = 2264]

22)
A wige sage has zaid, "The huriger for kriowledge is more difficult to remove than the huriger for

food, Thieretore, one should stick to the food," Which fallacy is committed in this argument?

1, Begaing the Question

2, Falze Dilemima

3, lgngratio elenchi (rrelevant concusion)
4, Appeal to Emoticn



UF 9fadH 90 &1 Y & 'TH D1 48 B oF S U9 $1 48 @ & & o fiw @ie4
£ 3o g &1 Ui O (i@ @H oA 9T 59 0k § S -9 dd iy 87

1, W H SR G

2, ¥ B

2, SUR R o= (g e
4, 3[T7T STIE

[Question ID = 567][Question Description = 127_0_GP16_SEP22_S2_Q27]
1. 1 [Option ID = 2265]
2. 2 [Option ID = 2266]
3. 3 [Option ID = 2267]
4. 4 [Option ID = 2268]

23)
"We should walue the Moorn more than the Sun because the Moon shines when it iz dark whergas

the Sur shineswhen there i light ampway” This statement cormimits the fallaoy of;

1, Appeal to Emotion

2, Fallacy of False Cause
3, False Dilemma

4, Equivocation

B TR BT AUET I BT o1 Aew SRy w6l TRAT SRS UR W BT B, Se i 9
VTR B OF TR Bl &7 59 By H FERiied aham e ;

1 AT HUR IR

2 TET HRT G IR GN
3, AT =g

4, gRHA]

[Question ID = 568][Question Description = 128_0_GP16_SEP22_S2_Q28]
1. 1 [Option ID = 2269]
2. 2 [Option ID = 2270]
3. 3 [Option ID = 2271]
4. 4 [Option ID = 2272]

24)
Giver below are bwo statemerits, ore is labelled as Assertion A and the otherislabelled as Reason

R

Assertion A : According to classical Indian Logicians (Maiyvavikas), all fallacies are material fallacies,
Reason R According to Myaya, Syllogism iz deductive-inductive arid formal-material,

I light of thie above statements, choose the correet answer from the options given below

1, Both A aridd R are true and R s the correct explanation of A

2, Both A anid R are true but Ris MOT the correct explanation of A
3 Alistrue butRis false

4 Aisfalse but Ris trus



T a By Bu g tH AfUEHYT (Assertion &) & TU H BT B 1 g5 393 GRI (Reason R)
FEOH:
YT A FATD T R ThRad! (210 5) & TR G4 -6 HIia®h dd aN el & |

TR R 7 & HTHR AF-a0 FIHS - PSS SR $uE - ide Blare |
3 S & e § A Reedt § 8 el S e I S

1 AARREAI T8 AR R, AT U8 TS E
2 AIRREAITT G, AR, AT e T T8 &
3ATTE AiFTR ITH R

4 AT R, ABTR T B

[Question ID = 569][Question Description = 129_0_GP16_SEP22_S2_Q29]

1.1
2.2
3.3
4. 4

25)

[Option ID = 2273]
[Option ID = 2274]
[Option ID = 2275]
[Option ID = 2276]

Which of the following statemenits are true regarding Myaya (Classical Indian Schiool of Logic) wiew
of hetrabhasa (fallacy)

A ltmeans that middle term appears to bea rdason but is riot a valid reason,
B, Al fallacies are materral Tallaces,

C, Whiern an infererice is based not on causation but on uniformity of co-existerice, it leads toa
fallacy,

D, Fallacies occur when ariy of the five characteristicsof a middlle term are violated,
Choose the cofrect answer from the opfions given below!

1.4 Band Conily
2,4 B and Doonly
3. B, Cand Donly
4 4B CandD

Frafifes S8 &4 = @eibs ] 4RGT 96 99 $ oW S Ad & goH S v 8y

A ZEET oY 8 7 U T Uil 511 & U a8 T e gl

g gliadan, e ah amen &

C. 5d BTy STHH GRU-GT 8¢ O3 TR 7 5163 Ue-fRd @1 ieEgd U HHING gt e ol

Y Tha N SOA Bl e
D, Tam 39 [T & IF §it & 519 B9 o Ui fawae 7 i e ser aiae
el By e e ¥ 9 wel oW A

1, A A B AR C
2, HaT A BHRD
3, 50 B, CHRD

4 A8 CIHRD



[Question ID = 570][Question Description = 130_0_GP16_SEP22_S2_Q30]
1. 1 [Option ID = 2277]
2. 2 [Option ID = 2278]
3. 3 [Option ID = 2279]
4. 4 [Option ID = 2280]

26)
Which of the followinig is notan essential component required for video-conferencing system?

1, ¥ideo Camera
2, Dizplay Davice
3, Telephicre

4, Microphorie

FoffEa 3 @ g diEg e p R fen & B e su e 2@ T8l a7

1 gifEg e
>, fEow ey
3, T

4 AEE A

[Question ID = 571][Question Description = 131_0_GP16_SEP22_S2_Q31]
1. 1 [Option ID = 2281]
2. 2 [Option ID = 2282]
3. 3 [Option ID = 2283]
4. 4 [Option ID = 2284]

27)
Wihich of the following is MNOT correct regarding Digilocker, a key initiative under 'Digital India

programme of Government of India?

1, Indian citizens who sign up for a Digilocker account get a dedicated doud storage space that s
limited to thieir Aadhar number,

2,1t aims to eliminate the use of physical documents and provide access to their digital
documents anytime, anywhere and share it anling,

3, Citizens can self-upload documents and digitally sign them using the e-sign facility,

4, Theslogan of Digilocker is "My documents, Anytime, Anywhere

ORIy & @ S0 4R WRER @ oy - BRea s & ol ue vig uee - B &
PR R L R
1 BREieR @ & B0 SN & g% YR ARG Tl wds = RY WY Wik & &,
ST D] SR T R Bl & | |
2 TUET Fe20 VIS SEs 6 U & TR & ofR 9% oK & fhdt o gy et ot
STg Be ! W UEd UaH AT aYT 34 e T 616 |
3, ARG WY SfUcie HF Uahd & AR -9 [T B 39T &1 [Bfed F9 1 gRER &1
T & |
4, BRela ©RT &1 WFH & - 'HIR SeaHew, TR, e i 7Y e, et o
HHY, ®el A

[Question ID = 572][Question Description = 132_0_GP16_SEP22_S2_Q32]
1. 1 [Option ID = 2285]
2. 2 [Option ID = 2286]
3. 3 [Option ID = 2287]
4. 4 [Option ID = 2288]



28)
Mary computer users are worried about malware, Which of the following are two examples of

malware?

A, Firewall

B, Warm

C, Router

D, Virus

Choose the corfrect answer from the opfions given below,

1.4 and Canly
2, A and Bonly
3 B and Dronly
4, C and D orily

HIET & HHE STIRTET] AR & aR § AR & FuffET & 8 S99 o & & gaen
&

A, TBTIRA R

B4

C, e

D, AT%H

i B e fwedt # ¥ wE SR A

1, &ge A S C
2, acT A SR B
3 HAARIND
4, HFACHARD

[Question ID = 573][Question Description = 133_0_GP16_SEP22_S2_Q33]
1. 1 [Option ID = 2289]
2. 2 [Option ID = 2290]
3. 3 [Option ID = 2291]
4. 4 [Option ID = 2292]



29)
Corisider the following spreadsheet:

A B c
1 4
2 i 2
3 ¥
4 8 9
5 9
6

If the formula = $4%$3 + B2 in cell C4is copied to cell €5, then what is the value in cell C57

1.2
2.8
3.7
417

WO [0 [ e | s |
i

G| W | bW g

7% e @ BN Wa T G = 3433 + B2 BTG U F UG [BOrame a1 9w 9is 3§ 79 @) 79
LI

1.9
2.8
37
417

[Question ID = 574][Question Description = 134_0_GP16_SEP22_S2_Q34]
1. 1 [Option ID = 2293]
2. 2 [Option ID = 2294]
3. 3 [Option ID = 2295]
4. 4 [Option ID = 2296]



30)
Wi ch of thie fallowirig are the principal components of the CPU of 3 computer system?

A ALL (Arithmetic-Logic Unit)

B, CU (Contral Unit)

C, Processor Registers

D, SSD (Solid-State Drive)

E. WRAM (Video RAN)

Choose the cofrect answer from the opfions given below!

1, A B and Doonily
2 A Band Conly
3 C DandEonly
4. B, Cand Doonly

o R

FEfIET & § &Y Uh SREs YUl & WG ged B 7
A TTAY, (HYARE - Tierd I

B, H1 @HE 4fe)

C. igwe ey

D. UHUHEl @IRS-%e gRa)

£, d1aRuTH, [difedrm)

e B e feed! # O wE SR

1. HAAA BIRD
2, AT A BERC
3 B C, DIANE
4, %0 e CIRD

[Question ID = 575][Question Description = 135_0_GP16_SEP22_S2_Q35]
1. 1 [Option ID = 2297]
2. 2 [Option ID = 2298]
3. 3 [Option ID = 2299]
4. 4 [Option ID = 2300]

31)
Which among the following pesticides would have the |east chance of bicaccumulation in food

chiains?

1, Chlordane
2, Aldrin

3, Carbaryl
4, Endrin



Wi gl H FHTET # & 6 e ST & e S GagE S HEA e

1, FNET
2, ufEA
3, HENE
4,0

[Question ID = 576][Question Description = 136_0_GP16_SEP22_S2_Q36]

1.1
2.2
3.3
4. 4

32)

[Option ID = 2301]
[Option ID = 2302]
[Option ID = 2303]
[Option ID = 2304]

Which of thie followirig is envisaged in the Sustainable Deveopment Goals?

1, By 2020, conserve at least 50% of coastal and marine areas,

2, By 2030, reduce by one-third of the per capita global food waste at the retail and consumer
lewels,

3, By 2030, double the global rate of improvement in energy efficiency.

4, By 2030, reduce by one-fifth the premature mortality from non-communicable diseases

T G wel # RyfieT 8 € Gus aResa T &1 67

1,89 2020 T, B T HH 50% T 1T AR T &1 BT I8

2. 99 2020 7%, Fa % IO SRR UlerE Afde O 94l 3 UF RER a9 o3 A
3, TN 2030 T, 9] G&T A TR &1 385 53 B G B!

4,98 2030 7%, TR-IH WS I 4 TH90E T 5 4 Uidd B 9% &8 arl

[Question ID = 577][Question Description = 137_0_GP16_SEP22_S2_Q37]

1.1
2.2
3.3
4. 4

33)

[Option ID = 2305]
[Option ID = 2306]
[Option ID = 2307]
[Option ID = 2308]

Which among the following hazards can occur due to anthropogenic causes?
A, Cyclores

B Mudear Disaster

C. Floods

D, Volcanpes

E. ForestFires

Choose the correct answer from the options given below;

1, A B and Doonly
2, B, C and Doonily
3. B, Dand Eonly
4. B, Cand E only



fone R

FrafifEd &7 € @i AFE e SR d JO9 e 96 & 7
A, T

B, T T SaaT

c 9

D, ST T
E, STET & T 3
FH T T Reen § Y gEl SR

1 HaaA BIR D
2 HAABR, CHRD
3, BB, D ARE
4, HAR, CARE

[Question ID = 578][Question Description = 138_0_GP16_SEP22_S2_Q38]
1. 1 [Option ID = 2309]
2. 2 [Option ID = 2310]
3. 3 [Option ID = 2311]
4. 4 [Option ID = 2312]

34)
Arrange the following water bodies in increasing order of the quantity of freshiwater they hold,

A, loeand show

B. Freshwyater lakes and reservoirs

CoGrourdwater

D, Rivers and:straams

Chogose the correct ariswer from the options given below

1. DB CoA
2B CDA
3B DALC
4 0B A C



AR &1 HTH1 1 YR 5 S o8 H FH AR sic Fa ol oud Y o -
A T (3T TR & @

B, TR &1 el SR SeRTET &7

C, YA W

D, IR 3R ~eT- 4R

i BT 7 fdedt # ¥ wE SR

1.0BCA
2B C DA
3B DAC
4 0B AC

[Question ID = 579][Question Description = 139_0_GP16_SEP22_S2_Q39]
1. 1 [Option ID = 2313]
2. 2 [Option ID = 2314]
3. 3 [Option ID = 2315]
4. 4 [Option ID = 2316]

35)
Giver below are bwo statemerts, one is labelled as Assertion A and the otherislabelled a5 Reason

R
Assertion A: Most oyilones causewidespread damage in coastal areas,

Reason R: Energy of most cyclones increases after |andfall,

I light of the abowe statements; choose the most appropriate ariswer from the options given
below

1, Both A anid R are correct and R is the correct explanation of A

2, Both A arid R are correct bt R s MOT the correct esqlanation of A
3 Aliscorrect but R is not correct

4, Aisnotcorrect byt R is correct

T a By BE TR UF AHYT (Assertion &) & T G £ 71 351 305 TR (Reason R)
HEgH;
YT A AT TwaTl © dead aa 8 4 i mAasgE e e |

TR R WA & 906 G gwmda B Il A dls eria
ST B & e 1 AT Reedl § 8 Tel ST @1 997 $ g

1 AARREFI TR 8 R AT He e |

2, AR RGH U 6 UIR R, A DI Hol YR 7l & |
3 ATET R, AT R TET TR g |

4 ATETTRIE, TR BT B

[Question ID = 580][Question Description = 140_0_GP16_SEP22_S2_Q40]
1. 1 [Option ID = 2317]
2. 2 [Option ID = 2318]
3. 3 [Option ID = 2319]
4. 4 [Option ID = 2320]



36)
Some of the most notable universities thiat evolved during ancient period in India were situated at;

A, Takshashila

B, Vikramshila

C, lagaddala

O, Odantapuri

E. Malarida

Choose the cofrect answer from the opfions given below!

1.ABCDandE
2.4 Band Eonly
3. A B CandEonly
4 A B DandE only

YRE H WEH @l 3w &3 a1 &8 Hd14d S 4y [Fee ol g ¢
A, &R

B, [AgrafRreT

C, STGReT]

D, FETT

E. ATHaT

i B e fwedt # ¥ wE SR A

1. ABCDINE
> BT A BHRE
3, HATA B CARE
4, HAA R D ANE

[Question ID = 581][Question Description = 141_0_GP16_SEP22_S2_Q41]
1. 1 [Option ID = 2321]
2. 2 [Option ID = 2322]
3. 3 [Option ID = 2323]
4. 4 [Option ID = 2324]

37)
Irv pursuarice of the Mational Cound| of Teacher Education Act 1993, NCTE was established in the

year,

1.1995
2, 1993
3.1994
4, 1996



AT S RenuReG ST, 1993 § TEU AN, &1 e e § ®gATEs 417

1,1995
2,1993
3, 1954
4, 1996

[Question ID = 582][Question Description = 142_0_GP16_SEP22_S2_Q42]
1. 1 [Option ID = 2325]
2. 2 [Option ID = 2326]
3. 3 [Option ID = 2327]
4. 4 [Option ID = 2328]

38)
SWAYAR tries to take the best teaching-learning resources toall students through

1, Seminars

2, Wideo lactures

3, Clagsroom teaching
4, Coriferences

W (swavan) FEfieT 7 By mmay O udion Rem-afim gunRET o 3 faddt e o
EIEG AR ERERINEH

1, YTt
o I AR
3, & H R
4, T

[Question ID = 583][Question Description = 143_0_GP16_SEP22_S2_Q43]
1. 1 [Option ID = 2329]
2. 2 [Option ID = 2330]
3. 3 [Option ID = 2331]
4. 4 [Option ID = 2332]

39)
Following are thie characteristics of Non-Corwentional lgarning:

A, Itis teacher oriented,

B, Itis for improvement of guality,

C. Itis cost effective,

O [tis linked to emplayment.

E ltizoncampus

Choose the correct answer fraom the opfions given below,

1.4 Band Conly
2, B CandDonly
3, A Cand D only
4, C, Dand Eonly



RO i & e g
A, T FRIER SHE R |

B, 3T 35 20 0w § TR AR e
C, 98 qe9-9YET 8

D, TE AR A TEfAT g

E. 8 S gL g |

i B e feed! # ¥ wE SR

1, T A BIFRC
2 AT N D
3. HAAA CHRD
4, HAC, D HARE

[Question ID = 584][Question Description = 144_0_GP16_SEP22_S2_Q44]
1. 1 [Option ID = 2333]
2. 2 [Option ID = 2334]
3. 3 [Option ID = 2335]
4. 4 [Option ID = 2336]

40)
Grver below are thwo staterments

Statement |: An ethical framewaork of sustainable deveopment provides normative guidance
regarding our relationship with enviranment,

Statement II: Anthropocentric model iz misleading a3 evident from its environmental
conseqguences,

Imlight of the above staternents, choose the correct answer from the options given below

1, Both Staterment | and Statement || are trug
2, Bothy Statement | and Staterment || are false
3, Staternent | iz true but Statemeant || iz falze
4, Statemment | iz false but Staterment || is trye

&l @y Gu e g .

WY - | T AT &1 A0e SUE AR UYiaR & Y Y9 & R J JES E JFEgT waE
HUE |

HYT - ||| TS ad Hag YIS 8, 99 7 396 ggieeiy g g gy g |

I eyl & erelle | e el & o wgT IR g

1.5 IR G TR

2, YA | R G T B

2. Y| g &, A Ty || IET & |
4T TR, AT T 1 T B |

[Question ID = 585][Question Description = 145_0_GP16_SEP22_S2_Q45]
1. 1 [Option ID = 2337]



2. 2 [Option ID = 2338]
3. 3 [Option ID = 2339]
4. 4 [Option ID = 2340]

Topic:- 13_GP_30SEPT22_SH1_S2_C

1)
Read the given passage and answer the questions that follow

Marie Curie was a Polish-born physicist and chemist and one of the most famous scientists of her
time. Together with her husband, Pierre, she discovered radium, an element widely used for treating
cancer, and studied uranium and other radiocactive substances. Pierre and Marie's amicable

collaboration later helped to unlock the secrets of the atom. Together with her husband Pierre, she was
awarded the Noble Prize for Physics in 1903,

Marie was born in Warsaw, Poland on 7 November 1867, the daughter of a Physics teacher. At an early
age, she displayed a brilliant mind and a blithe personality. Her great exuberance for learning
prompted her to continue with her studies after high school. She became disgruntled, however, when
she learned that the university in Warsaw was closed to women. Determined to receive a higher
education, she defiantly left Poland and in 1891 entered the Sorbonne, a French University, where she
earned her master’s degree and doctorate in Physics.

Marie was fortunate to have studied at the Sorbonne with some of the greatest scientists of her day,
one of whom was Pierre Curie. Marie and Pierre were married in 1895 and spent many productive
years working together in the physics laboratory. A short time after they discovered radium, Pierre
was killed by a horse-drawn wagon in 1906. Marie was stunned by the horrible misfortune and
endured heartbreaking anguish, Despondently, she recalled their close relationship and the joy that
they had shared in scientific research. The fact that that she had two young daughters to raise by
herself greatly increased her distress.

Curie's feeling of desolation finally began to fade when she was asked to succeed her husband as a
Physics professor at the Sorbonne. She was the first woman to be given a professorship at the world-
famous university. She received her second Noble Prize in Chemist for isolating radium, in 1911. Curie
eldest daughter, Irene, was herself a scientist and winner of the Noble Prize for Chemistry.

Although Marie Curie eventually suffered a fatal illness from her long term exposure to radium, she
never became disillusioned about her work. Regardless of the consequences, she had dedicated
herself to science and to revealing the mysteries of the physical world,

At what age did Marie Curie receive her first Nobel prize?

1.36 years
2. 46 years
3.56 years
4. 44 years
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[Question ID = 586][Question Description = 146_0_GP16_SEP22_S2_Q46]
1. 1 [Option ID = 2341]
2. 2 [Option ID = 2342]
3. 3 [Option ID = 2343]
4. 4 [Option ID = 2344]

2)



Read the given passage and answer the questions that follow

Marie Curie was a Polish-born physicist and chemist and one of the most famous scientists of her
time. Together with her husband, Pierre, she discovered radium, an element widely used for treating
cancer, and studied uranium and other radioactive substances. Pierre and Marie's amicable
collaboration later helped to unlock the secrets of the atom. Together with her husband Pierre, she was
awarded the Noble Prize for Physics in 1903.

Marie was born in Warsaw, Poland on 7 November 1867, the daughter of a Physics teacher, At an early
age, she displayed a brilliant mind and a blithe personality. Her great exuberance for learning
prompted her to continue with her studies after high school. She became disgruntled, however, when
she learned that the university in Warsaw was closed to women, Determined to receive a higher
education, she defiantly left Poland and in 1891 entered the Sorbonne, a French University, where she
earned her master’s degree and doctorate in Physics.

Marie was fortunate to have studied at the Sorbonne with some of the greatest scientists of her day,
one of whom was Pierre Curie. Marie and Pierre were married in 1895 and spent many productive
years working together in the physics laboratory. A short time after they discovered radium, Pierre
was killed by a horse-drawn wagon in 1906. Marie was stunned by the horrible misfortune and
endured heartbreaking anguish. Despondently, she recalled their close relationship and the joy that
they had shared in scientific research. The fact that that she had two young daughters to raise by
herself greatly increased her distress.

Curie’s feeling of desolation finally began to fade when she was asked to succeed her husband as a
Physics professor at the Sorbonne, She was the first woman to be given a professorship at the world-
famous university. She received her second Noble Prize in Chemist for isolating radium, in 1911, Curie
eldest daughter, Irene, was herself a scientist and winner of the Noble Prize for Chemistry.

Although Marie Curie eventually suffered a fatal illness from her long term exposure to radium, she
never became disillusioned about her work, Regardless of the consequences, she had dedicated
herself to science and to revealing the mysteries of the physical world.

After how many years of her marriage did Marie Curie lose her husband?

1.11 years
2. 39 years
3. 28 years
4,6 years
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[Question ID = 587][Question Description = 147_0_GP16_SEP22_S2_Q47]
1. 1 [Option ID = 2345]
2. 2 [Option ID = 2346]
3. 3 [Option ID = 2347]
4. 4 [Option ID = 2348]

3)



Read the given passage and answer the questions that follow

Marie Curie was a Polish-born physicist and chemist and one of the most famous scientists of her
time. Together with her husband, Pierre, she discovered radium, an element widely used for treating
cancer, and studied uranium and other radiocactive substances. Pierre and Marie's amicable
collaboration |ater helped to unlock the secrets of the atomn. Together with her husband Pierre, she was
awarded the Noble Prize for Physics in 1903.

Marie was born in Warsaw; Poland on 7 November 1867, the daughter of a Physics teacher. At an early
age, she displayed a brilliant mind and a blithe personality, Her great exuberance for learning
prompted her to continue with her studies after high school. She became disgruntled, however, when
she learned that the university in Warsaw was closed to women, Determined to recsive a higher
education, she defiantly left Poland and in 1891 entered the Sorbonne, a French University, where she
earned her master’s degree and doctorate in Physics.

Marie was fortunate to have studied at the Sorbonne with some of the greatest scientists of her day,
one of whom was Pierre Curie. Marie and Pierre were married in 1895 and spent many productive
years working together in the physics laboratory, A short time after they discovered radium, Pierre
was killed by a horse-drawn wagon in 1206. Marie was stunned by the horrible misfortune and
endured heartbreaking anguish, Despondently, she recalled their close relationship and the joy that
they had shared in scientific research. The fact that that she had two young daughters to raise by
herself greatly increased her distress.

Curie’s feeling of desolation finally begar to fade when she was asked to succeed her husband as a
Physics professor at the Sorbonne. She was the firstwornan to be given a professorship at the world-
famous university. She received her second Noble Prize in Chemist for isolating radium, in 1911. Curie
eldest daughter, Irene, was herself a scientist and winner of the Noble Prize for Chemistry.

Although Marie Curie eventually suffered a fatal illness from her long term exposure to radium, she
never became disillusioned about her work. Regardless of the consequences, she had dedicated
herself to science and to revealing the mysteries of the physical world.

What made Marie Curie study at Sorbonne University?

1. University in Warsaw did not allow her admission.

2. She wanted to work with Pierre Curie,

3. She wanted to work on Radium,

4. She did not enjoy learning at an early age in Warsaw.,
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4)



Read the given passage and answer the questions that follow

Marie Curie was a Polish-born physicist and chemist and one of the most famous scientists of her
time. Together with her husband, Pierre, she discovered radium, an element widely used for treating
cancer, and studied uranium and other radioactive substances. Pierre and Marie's amicable
collaboration later helped to urlock the secrets of the atorm. Together with her husband Pierre, she was
awarded the Noble Prize for Physics in 1903.

Marie was born in Warsaw, Poland on 7 Movember 1867, the daughter of a Physics teacher. At an early
age, she displayed a brilliant mind and a blithe personality, Her great exuberance for learning
prompted her to continue with her studies after high school. She became disgruntled, howewver, when
she learned that the university in Warsaw was dosed to women. Determined to receive a higher
education, she defiantly left Poland and in 1891 entered the Sorbonne, a French University, where she
earned her master’s degree and doctorate in Physics.

Marie was fortunate to have studied at the Sorbonne with some of the greatest scientists of her day,
one of whom was Pierre Curie, Marie and Pierre were married in 1895 and spent many productive
years working together in the physics laboratory. A short time after they discovered radium, Pierre
was killed by a horse-drawn wagon in 1906. Marie was stunned by the horrible misfortune and
endured heartbreaking anguish. Despondently, she recalled their close relationship and the joy that
they had shared in scientific research. The fact that that she had two young daughters to raise by
herself greatly increased her distress.

Curie’s feeling of desolation finally began to fade when she was asked to succeed her husband as a
Physics professor at the Sorbonne. She was the first woman to be given a professorship at the world-
famous university. She received her second Noble Prize in Chemist for isolating radium, in 1911. Curie
eldest daughter, Irene, was herself a scientist and winner of the Noble Prize for Chemistry.

Although Marie Curie eventually suffered a fatal illness from her long term exposure to radium, she
never became disillusioned about her work. Regardless of the consequences, she had dedicated
herself to science and to revealing the mysteries of the physical world.

Which of the following elements is widely used in treatment of Cancer?

1. Uranium
2. Radium

3. Thorium
4. Plutonium
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Read the given passage and answer the questions that follow

Marie Curie was a Polish-born physicist and chemist and one of the most famous scientists of her
time. Together with her husband, Pierre, she discovered radium, an element widely used for treating
cancer, and studied uranium and other radioactive substances. Pierre and Marie's amicable
collaboration later helped to unlock the secrets of the atom. Together with her husband Pierre, she was
awarded the Noble Prize for Physics in 1903.

Marie was born in Warsaw, Poland on 7 November 1867, the daughter of a Physics teacher. At an early
age, she displayed a brilliant mind and a blithe personality. Her great exuberance for learning
prompted her to continue with her studies after high school. She became disgruntled, however, when
she learned that the university in Warsaw was closed to women. Determined to receive a higher
education, she defiantly left Poland and in 1891 entered the Sorbonne, a French University, where she
earned her master’s degree and doctorate in Physics.

Marie was fortunate to have studied at the Sorbonne with some of the greatest scientists of her day,
one of whom was Pierre Curie. Marie and Pierre were married in 1895 and spent many productive
years working together in the physics laboratory. A short time after they discovered radium, Pierre
was killed by a horse-drawn wagon in 1906. Marie was stunned by the horrible misfortune and
endured heartbreaking anguish, Despondently, she recalled their close relationship and the joy that
they had shared in scientific research. The fact that that she had two young daughters to raise by
herself greatly increased her distress.

Curie’s feeling of desolation finally began to fade when she was asked to succeed her husband as a
Physics professor at the Sorbonne, She was the first woman to be given a professorship at the world-
farmous university. She received her second Noble Prize in Chemist for isolating radium, in 1911, Curie
eldest daughter, Irene, was herself a scientist and winner of the Noble Prize for Chemistry.

Although Marie Curie eventually suffered a fatal illness from her long term exposure to radium, she
never became disillusioned about her work. Regardless of the consequences, she had dedicated
herself to science and to revealing the mysteries of the physical woarld,

The passage shows Marie Curie to be a great scientist who

1. was amiable in nature.

2. had indomitable spirit and dedication to science,
3. was emotionally vulnerable,

4. became disillusioned after her husband's death.
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